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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op.

Tekst 1 The polar vortex

1 Which of the following fits the gap in the text?
A In conclusion
B In fact
C Moreover
D Nevertheless

Tekst 2 Soundalike sweethearts

2 Geef van de volgende beweringen aan of deze overeenkomen met de
inhoud van alinea 1.
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad.
1 It is important to like your partner’s home dialect if you want your
relationship to succeed.
2 People try to resemble their superiors by using the same words and
expressions they use.

3 What becomes clear about the language research in paragraphs 2 and 3?
A Inconsistencies in the instructions influenced its outcome.
B It was carried out by inexperienced students.
Cc It was the first step towards proving that LSM exists.
D Scientists were surprised by the spectacular findings.

4  Which of the following fits the gap in paragraph 3?
A criticise
B finish
Cc influence
D track

5 How does paragraph 4 relate to the findings on LSM presented in
paragraphs 2 and 37
A It elaborates on them.
B It explains them.
C It modifies them.
D It tones them down.

6 What is the point made in paragraph 5?
A Big companies are willing to fund new LSM research.
B Earlier LSM research was unreliable and will have to be redone.
C Further research into LSM might provide useful results.
D LSM research is fascinating but rather theoretical.
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